Indian Army general duty

COMMON ENTRANCE EXAMINATION FOR SOLDIER GENERAL DUTY

TIME - 1 HR.

QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

01. Which is the deepest ocean in the world

T P A TR AR B §

a. Indian Ocean / g HENITR

b. Atlantic Ocean / 3fcdifc® HRITR

c. Pacific Ocean / URlid HERINR

d. Arabian Sea / 3Rd IR
02. What is the term for a member of the
Rajya Sabha?
TSGHHT & UD HGed BT BB fbaT giar
®
a. 5 Years
b. 4 Years
c. 2 Years
d. 6 Years
03. Who was the first Indian to be appointed
President of the International Court of

Justice

ST ~ararea ¥ e frge g s
T U R DI A2

Nagendra Singh / = g

Bhagat Singh / “7rd g

Dr Hardayal / ST gvadre

None of these / 50 T ®ig ol

e o

04. Which day is observed as Human Right
Day?

o1 1 &7 7w siffeR Rau @ = & w=mn
ST 82

a. 24th October / 24 3fdgsR

4th July/ 4 Sldilg

10th December/ 10 fa=faR

b.
c.
d. None of these/ 370 ¥ $Ig Tol

0s.

06.

07.

08.

India’s biggest multipurpose river
valley projectis........

HRA B! TG TS gL A °rct
yRAT B
Hirakud/gR1$S

Bhakra Nangal / HTehT ARTel
Damodar Valley / iR 9rét

None of these / 598 T @®Ig ol

o oo

In which state is ‘Sanchi Stupa’
situated

it T R Ieu R fRE §
Madhya Pradesh / He ue
Uttar Pradesh / SR Ua=l
Bihar / fdgR

Maharashtra / HgRRTY

o oo

‘Each one Teach one’ programme

relates to..........

S 9 ¢ 9 Tded ha wefa 3
Adult education / Ui fRief
Regular education / M Ri&m
Non — formal education / 3T fRI&m
Awakened citizen / SIFId ARTRE®

a.
b.

(o]

A

When was ‘Shimla Pact’ between India and
Pakistan inked

YR 3R qIipear & o= Rer @Ry w= gwex
q fpg T2

1955

1971

1962

1972

oo o



09. The River Mahanadi originates from?

e Bol A ol 82

a.
b.
C
d

Raipur / @YY
Patna / YcHl

Ujjain / 3%
Dehradun / aBQ@q

10. Who wrote the book ‘Anand Math’?
'3HS o' fpam ferdt o2

a.

o

j SR

12. ...

Bankim Chandra Chattopadhyay / dfpues
TgiuTeaT

Abul Fazal / 3{dc] Thoie]

Kalidas / ®Ifcary

Sarat Chandra Chatterjee / TR dg el

..... is the author of ‘Meghdoot’

I P AT F |

Kalidas / STeilard
Tulsidas / 4Ry
Kautilya / difcey
Vedvyas /dGaard

..... is the largest planet of the solar system

ARHST BT Ha4 ISTUG ©

a.
b.

A o

Jupiter/ EEB?CIﬁT

Mercury/§ ¥

Venus/X[sh
None of These..’_EFIﬁ P} aﬁ§ Teﬁ

13. Which of these is not a part of our Parliament

Eﬁﬁﬁqﬁﬂﬁmaﬂ%ﬁ%

oo oo

President / 3{¢H&
Lok Sabha / Sli&aHT
Chief Justice / J HRITHRI

None of these / S:Iff P2 Eﬁ’at :lﬁf

14. Where did Ashoka fight his last battle?
3P 7 T R wrsTs Wol wat A

a.
b.
c
d

Malaya / Helldl

Kalinga / &I

Kochi / ®if=]

None of these / 30 I Eﬁl—?f Tol

15.

16.

17.

18.

19;

Gautam Buddha was born in
TdH T BT 70 BT G2

a. 563 BC

b. 472BC
c. 627BC
d

None of these / gtrﬁ[ g ﬁ—ﬁt ol

What is the heartbeat rate of a
young healthy man?

TP ga1 W ATSHT F fea Bt usa ot
& T B 82

a. 50 times

b. 72 times

c. 108 times

d. None of these

Brain is responsible for .........

H%W?mw o1l 37
Thinking / |r=-T

b. Balancing the body / TRIR &1 GdcH
CEIRRSCE]

c¢. Both (a) and (b) / a 3R b &HI

d. Only (a)/%dda

AYSFATE
Lungs / Bhs

Heart / 5ad

Kidney / T[&T
All of the above / 3ugat G4t

oo

.......... is used in thermometer to
show the temperature

argaE Em & g yatdfier d . 31
WO far ST § |

Lead /@S

Mercury / URT

Silver / it

None of these / STHI IS To!

po o



20. Which of the following set of animals are
cold blooded
0 ¥ o SRl & g BT EA $51
T

a.
b.
¢

d.

Crow, Earthworm, Frog / &l. dgs31l, Hicdh
Frog, Crow, Whale / Hed, I, o
Penguin, Salamander, Monkey / TT[g,
AR, da

Rohu, Frog, Cobra / g, Hed, Hial

21. Solar Eclipse occurs when .........

TITEUIEAI g 54 ...

a.

b.

c.
d.

Earth comes between sun and moon / G|,

W AR dgm & a3t §

Moon comes between sun and earth / gHT,

T SR gdt & off9 ot §
During crisis / ¥&¢ & GRM
Sun comes between moon and earth / H:&c

e IR et 3 g S B

22. Good conductor of electricity is

ﬁaﬁmwwaﬁq%"

oo

Glass / &9
Paper / BT
Copper / didl
Water / 9H1

23. Beriberi is caused due to deficiency of
vitamin

et frw faeifim ot oot & wRUT ST 82

oo ow

A
B
C
D

24, ATPIS cevuuen..

qé’rlﬂmrr%l

Adenosine Tetraphosphate / TSR
CCThIEhe

Adenine Tri Phosphate/ US+H T ®be
Adenosine Triphosphate / TSHEH Tl
BT

None of these / T8 Y ®I5 ol

25. Which law was stated by Ernst
Haeckel
T8 A B9 1w 3= 3w gwi faan
T a1
a. Law of inheritance/ 9=ImTid &1 faH
b. The biogenetic law/ SEISHICH @1

o

¢. Law of dominance/ U@ @1 gH
d. Law of segregation/ Jyddh Ul &l

fyas
26. Melting point of ice is
6 & fraa o1 aga
a. 100°C
b. 4°C
¢ 0%
d 5°C

27. Haemoglobin is found in
g s o srar g
a. Ve /=9
b. Urine/Hd
c. Blood /Xa&d
d. AIDS/ugy

28. The nucleus of an atom consists of
TP R & A4S § R 5 §
a. Electrons and Neutrons / geideH 3fl¥
e
b. Electrons and Protons / geiac iR
gieH
¢. Protons and Neutrons / Wi 3i¥

e
d. Neutrons only / &dd IgH

29. A mixture of metal dissolved in
mercury is known as ..........

R ¥ fire engait & firyor & o 3
a. Amalgam / URGHTd %o

b. Alloy/ ffsig
¢. Mercury salt/ URT-TH&®
d. Solution / faerm=



30. The formula of Ammonium Chloride is

o1,

32,

33:

34.

NH4Cl
NH4Cl
NHCL
NH4Cly

Ao o

Rusting of Iron is a

s o ST o T 2

a. Physical Change / ¥ifd® gikad=

b. Chemical change / JHRIM® dgad

c. Biochemical change / SHdhHde gRad—

d. Electrochemical change / faggd Ivmafe ufkada

Penicillinisa ............
CIEIDIGEE I

Antibiotic / UCleM™icH gal
Fats /391

Enzymes / USTgH
Proteins / UI¢H

ae ow

The male and female genes in a flower are

called ova and

T § 7R R AGI S ST PI SST AR Pl

EIGIE

a. Zygote / AT
b. pollen /WRIT

c. Pupa/ @Iv¥y Bl
d. Sperms / B0

Which is the fundamental particle that

constitutes an atom other than proton and

electron?

P |1 Wi U1 it Hield iR saeciH P srarar

TRHTY BT TS Bl ¢
Neuron / =R
Photon / BIcH
Neutron / g
Anion / 3{IGq

Ao o

35. Which of the following is not a
compound?
S A o i 71 &7
Ailr/dg
Steel / €ld
Water / gt
Brass / dlad

Ao o

36. The value of 2-(2) is
2-(2) BT HF TGN
a. 0

b. 4

c. 8

d. 16

37. If two angles of a triangle are 30 and
105, then the third angle will be
@ FIYS & 3 BI0T 30 3R 105 B, O ARRT
BIVT T GRM?
a. 75

b. 45

c. 65

d. 60

38. What is the value of 7/9 of 45?
45 T 7/9 TT GIT?
a. 33

b. 35

c. 38

d. 28

39. 1If (0.4z — 3) = -7/5. Find the value of z
(1.52+9)
3[R (0.4 -3) =-7/58 | Al z (1.52+ 9) BT HME
1 g

98/25

26/35

-96/25

None of these / 590 T @5 ol

S



40. Find the area of a playground of 300m  45. Perimeter of a square is 1000 cm. Find

length and 200m breadth. one side of that square
300 Hiex wars 3NY 200 Hiex ASTE S TS @A TP T Bt aiftr 1000 T 31 ST U
F e P &Fwd a1 grm? YT forait g1i?
a. 60,000 m? a. 10cm
b. 500 m b. 100 cm
c. 10,000 m? c. 20 cm
d. 60,000 m® d. 250 cm
41. If 8 men can do a piece of work in 15 46. 3 1/4 hrs. convert in Minutes
days, then in how many days could 20 3149 # e e sla @2
men do the same work a. 205
gfes P TT M 15 A A PR IgPd 8, A 20 b. 195
oY 95 P fra- faT & o= aner c. 210
a. 7 days d. 180
b. 8 days
c. 10 days 47.x+4) (x+5)=?
d. None of these / 50 Y dls ol a. x2+x-20
b. x3+9x-20
42, What is the fractional value of 4.21 c. x2+5x+1
4.21 T IS A T T2 d. x2+49x+20
a. 421/100
b. 121/10 48. If the average of 40, 10, 25, 20, 35 and x
c. 121/1000 is 25, then the value of x is
d. 21/100 Tl 40, 10, 25, 20, 35 3R x BT MR 25
3, A x FTAF FId Do
43. Find the value of 1/2 + 1/4 a. 20
1/2 + % T U T g b. 30
a. 3/4 ¢. 35
b. 32 d. 36
c. 5/4
d. 1/8 49. Simplify/ 59 B3
81x81+68x68-2x81x68
44, What is the square root of 0.0036 a. 169
0036 T A F1d DT b. 196
a. 0.06 c. 201
b. 0.6 d. None of these/ TTH ¥ PIg ol
c. 00.6
d 6 50. Area of square
it & fawa fpaTgiar

a. side x side / ST x HoIl

b. length x breadth / s x 9STg
c. length x length / dSTg x el
d. 4 xside/4x Yl

https://lwww.freshersnow.com/previous-year-question-papers/



Answer key

1.(c) /2.(d) V3.(a) V 4.(c) V5. ) ¥ 6.(a) ¥ 7. (a) ¥ 8.(d) v 9. (a) ¥ 10. (a) ¥ 11. (a) ¥
12. (a) v 13.(c) v 14. (b) v 15. (a) v 16. (b) v 17. (c) v 18. (d) v 19. (b) v 20. (d) v 21. (b) v

22. (c) v 23.(b) v 24. (b) v 25. (b) v 26. (b) v 27. (c) ¥ 28. (c) ¥ 29. (a) ¥ 30. (a) v 31. (b) v 32. (a)

V/ 33.(b)  34. (c) ¥ 35.(a) v 36. (a) v 37. (b) v 38.(b) v 39. (d) v 40. (a) v 41. (d) v 42. (a) v

43. (a) v 44.(a) v 45.(d) v 46. (b) ¥ 47. (d) v 48. (a) ¥ 49. (a) ¥ 50. (a) v

https://lwww.freshersnow.com/previous-year-question-papers/





